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MARK SCHEME — GCSE POLISH — WRITING — SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk
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Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Foundation Tier

Marks will be allocated in the following way at Foundation Tier:

Communication | Content | Quality of | Conveying Application of Total
language key grammatical
messages knowledge of
language and
structures
Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50

Question 01

For this question, students are required to write four sentences. Each sentence is marked according to
the following criteria. The maximum mark is 8.

[8 marks]
Mark Communication
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

The following indicative content is an example of the responses that students may give to this question.

2 marks 1 mark 0 marks
oo - Rodzina obiad. -
01.1 Rodzina je obiad.. Jedza obiad, Obiad. [2 marks]
Dziewczynka ma diugie Dziewczynka Dziewczynka/witosy.
wiosy.
01.2 wiosy. y [2 marks]
Babcia podaje dziadkowi | Babcia podaje. Podaje.
01.3 satate/satatke. [2 marks]
W szklankach jest sok. Jest sok. Szklanka.

01.4 [2 marks]




MARK SCHEME — GCSE POLISH — WRITING — SPECIMEN

Question 02

For this question there are four compulsory bullet points, which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 40 words over the whole question. The number of words
is approximate and you must mark all work produced by the student.

[16 marks]
Content

Level | Marks | Response

5 9-10 | Afull coverage of the required information. Communication is clear.

A good coverage of the required information. Communication is mostly clear
but perhaps with occasional lapses.

A reasonable coverage of the required information. Communication is

3 56 generally clear but there are likely to be lapses.

5 3-4 A partial coverage of the required information. Communication is sometimes
clear but there are instances where messages are not conveyed.
A minimal coverage of the required information. Communication is often not

1 1-2 clear and there may be frequent instances where messages are not
conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level | Marks | Response

3 5.6 Uses a variety of appropriate vocabulary and grammatical structures.
Generally accurate.
Vocabulary and grammatical structures generally appropriate to the task,

2 3-4 . . .
with some attempt at variety. More accurate than inaccurate.

1 1-2 Vocabulary and structures used may be limited, repetitive or inappropriate.
There may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at
this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart from
that, the Content mark does not limit the mark for Quality of language.
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The following indicative content is an example of the response that students may give to this question.

Jestem w Polsce nad jeziorem w matym miasteczku Wegrow. Przyjechatem tu z moimi rodzicami,
bratem i jego przyjacielem Markiem. Codziennie chodzimy na plaze. Gramy w pitke i jezdzimy na
rowerach. Najbardziej podobajg mi sie wycieczki statkiem po jeziorze. Wracam za tydzien. Tomek

(42 words)
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Question 03

The translation is assessed for Conveying key messages (5 marks) and Application of grammatical
knowledge of language and structures (5 marks), as specified in the criteria below. The maximum mark
is 10. When awarding the marks, the student’s response across all five sentences should be considered
as a whole.

[10 marks]
Conveying key messages
Level | Marks | Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.

Application of grammatical knowledge of language and structures

Level | Marks | Response

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The I_anguage produced does not meet the standard required for Level 1 at
this tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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The following indicative content is an example of a response which would be awarded full marks.

1 My sister is ten years old. Moja siostra ma dziesie¢ lat.

2 At school | like English and Art. W szkole lubie angielski i plastyke.

3 For breakfast | eat cereal with yogurt. Na sniadanie jem ptatki z jogurtem.

4 On holiday I play tennis in the park. W czasie wakacji gram w tenisa w parku.

5 Last Saturday | went to the cinema with W ostatn'ia sot_)ote pos.,zed’rgm/posziam z
my friends. kolegami/kolezankami do kina.

Other correct translations will be exemplified in the standardising materials.
Exemplification of mark scheme

To exemplify the marking criteria for Conveying key messages and Application of grammatical
knowledge of language and structures, a range of exemplar student responses have been provided
below with a commentary.

Student 1

Moja siostra ma dziesiec lat.

W szkole lubie angielski i plastyke.

Na sniadanie jem ptatki i jogurt.

W czasie wakacji gram w tenisa w parku.

W ostatnig sobote posztam z kolegami do kina.

arwnE

Conveying key messages =5
Application of grammatical knowledge of language and structures = 5

All key messages are conveyed. There is some omission of diacritical marks, (for example e instead of
e), but the response is highly accurate and the candidate displays a very good knowledge of vocabulary
and grammatical structures.
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Student 2

Moja siostra ma dziesie¢ lat.

W szkole lubie Angielski i Sztuke.

Na sniadanie zawsze jem ptatki i yogurt.
W czasie wakacji gram tenis.

W sobote bytem z kolegami w kinie.

arwnNE

Conveying key messages =5
Application of grammatical knowledge of language and structures = 4

All key messages are conveyed. However, there are some inaccuracies, for example omission of the
verb in the sentence about holiday or a different verb in the last sentence, and as such, the response is
generally, rather than highly, accurate.

Student 3

Moja siostra ma dziewiec¢ lat.

W szkole jest Angielski i Art.

Na $niadanie mam yogurt i corn flakes.
W wakacje bawitem sie w tenis.

W niedziele posztam do kina.

agrwdE

Conveying key messages = 4
Application of grammatical knowledge of language and structures = 3

Nearly all key messages are conveyed, with the exception of age in the first sentence and omission of
‘with friends’ in the last sentence. The response, however, is not generally accurate due to misspellings,
wrong verb, incorrect tense and the use of English words. Nevertheless, it is more accurate than
inaccurate.

Student 4

Siostra jest dziesieC.

Mam angielski i plastyka.

Na sniadanie to yogurt i ptatkami.

W wakacjach tennis koto parku.

Tamta niedziela byta z kolegami w kinie.

agrLONE

Conveying key messages = 2
Application of grammatical knowledge of language and structures = 2

Only some messages are conveyed, and this is due to a limited knowledge of vocabulary and
grammatical structures. A number of misspellings and omissions make this answer generally inaccurate.
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Student 5

siostra siedem lat
W szkole angielski
Sniadanie

tennis w parku.
Nie ide w cinema.

arwnE

Conveying key messages = 1
Application of grammatical knowledge of language and structures = 1

Very few key messages are conveyed. There is evidence of a very limited knowledge of vocabulary
and a lack of appropriate grammatical structures (words instead of sentences). The response is highly
inaccurate.

10
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Question 04

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The

student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

Content

[16 marks]

Level

Marks

Response

5

9-10

A very good response covering all aspects of the task. Communication is
clear and a lot of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is
mostly clear but perhaps with occasional lapses. Quite a lot of information
is conveyed. Opinions are expressed.

5-6

A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down.
Little information is conveyed. An opinion is expressed.

1-2

A limited response covering some aspects of the task. Communication is
often not clear and there may be frequent instances where messages
break down. Very little information is conveyed. There may be no
opinions expressed.

The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the

other criteria are met.

11
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Quality of language

Level | Marks | Response

A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more serious
errors may occur, particularly in complex structures and sentences, but
the intended meaning is nearly always clear. The style and register are
appropriate.

Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to at
least two different time frames, although these may not always be

2 3-4 successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always
be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to
the needs of the task. Sentences are mainly short and simple or may not

1 1-2 be properly constructed. There may be frequent major and minor errors.
Little or no awareness of style and register.
0 0 The language produced does not meet the standard required for Level 1
at this tier.
Notes

(@ A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart
from that, the Content mark does not limit the mark for Quality of language.

12
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The following indicative content is an example of the response that students may give to this question.

Either | Question
04.1

This is a possible response (indicative content):

Moja szkota nazywa sie Moring High.

Tak jak wszyscy moi koledzy do szkoty chodze w mundurku. Sktada sie on z
czarnych spodni, marynarki, biatej koszuli i niebieskiego krawata.

Najbardziej w szkole lubie ogromne boisko do pitki, najmniej stotéwke, bo jest tam
mato miejsca.

Nauczyciele sg mili, pani od francuskiego juz nie raz pomogta mi w zrozumieniu
gramatyki. Od nastepnego tygodnia bede miat dodatkowe lekcje, bo jezyk obcy
zawsze moze sie przydac.

Po egzaminach mam nadzieje iS¢ na studia biznesu. Studia sg bardzo pomocne,
bo dajg nie tylko wiedze, ale i przygotowujg do samodzielnego zycia. (94 words)

[16 marks]

or Question
04.2

This is a possible response (indicative content):

Moja rodzina to mama, siostra i brat. Siostra jest starsza o dwa lata i duzo sie
uczy, bo chce by¢ lekarzem. M¢j brat ma dopiero trzy lata. Jest bardzo zabawny i
gdy jestem smutna, on zawsze mnie rozSmiesza.

Moja mama jest bardzo wyrozumiata i zawsze ma dla mnie czas.

Lubie spedzac czas z mojg rodzing. W ostatnig sobote byliSmy wszyscy na
basenie, a potem w kinie.

Duza rodzina jest fajna, bo zawsze jest z kim porozmawia¢, ale tez rodzice nie
zawsze majq dla kazdego tyle samo czasu. Mysle, Ze rodzina jest wazna, bo
przygotowuje nas do dorostego zycia. (98 words)

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met. To exemplify this, the following alternative indicative content is provided.

13
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Either

or

Question
04.1

This is a possible response (indicative content):

Moja szkota nazywa sie Moring High.

Tak jak wszyscy moi koledzy do szkoty chodze w mundurku. Sktada sie on z
czarnych spodni, marynarki, biatej koszuli i niebieskiego krawata. Lubie w nim
chodzi¢, bo nie musze myslec¢ o tym, co mam codziennie zatozyc, tak jak to byto
w szkole w Polsce.

Na przerwach spotykam sie z kolezankami z innych klas, zawsze jest mito. Pani
od matematyki bardzo mi pomaga, ttumaczy, daje dodatkowe zadania, wie, ze nie
wszystko rozumiem po angielsku, ale mysle, ze do czasu egzaminow na studia
dogonie tych najlepszych. Przeciez to byt kiedy$ méj ulubiony przedmiot.

(97 words)

[16 marks]

Question
04.2

This is a possible response (indicative content):

Moja rodzina to mama, siostra i brat. Siostra jest starsza o siedem lat, nie
mieszka juz z nami. Uwielbia zwierzeta | dlatego zostata weterynarzem. Ja
niestety, nie rozumiem jej fascynacji, zdecydowanie wole ludzi. M¢j brat jest
miodszy ode mnie o dwa lata, mysle, ze jest taki za bardzo na serio, moze to |
dobrze, bo jak potrzebuje jakiej$ rady, zawsze mi pomaga. M¢j tata nie mieszka z
nami, ale ja odwiedzam go raz na trzy tygodnie. Jak bytam u niego ostatnio
poszlismy razem na wystawe starych samochodéw, bardzo mi sie podobato.
Mysle, ze rodzina jest wazna, bo daje nam wsparcie. (99 words)

[16 marks]

14
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Higher Tier

Marks will be allocated in the following way at Higher Tier:

Content

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
language | language key grammatical
messages | knowledge of

language and
structures

Question 1 10 6 16

Question 2 15 12 5 32

Question 3 6 6 12

Total 25 6 12 5 6 6 60

Question 01

[16 marks]

Level

Marks

Response

5

9-10

A very good response covering all aspects of the task. Communication is

clear and a lot of information is conveyed. Opinions are expressed.

7-8

A good response covering all aspects of the task. Communication is

mostly clear but perhaps with occasional lapses. Quite a lot of information

is conveyed. Opinions are expressed.

A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

3-4

A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down.
Little information is conveyed. An opinion is expressed.

1-2

A limited response covering some aspects of the task. Communication is
often not clear and there may be frequent instances where messages
break down. Very little information is conveyed. There may be no
opinions expressed.

The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.

15
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Quality of language

Level | Marks | Response

A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more serious
errors may occur, particularly in complex structures and sentences, but
the intended meaning is nearly always clear. The style and register are
appropriate.

Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to at
least two different time frames, although these may not always be

2 3-4 successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always
be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to
the needs of the task. Sentences are mainly short and simple or may not

1 1-2 be properly constructed. There may be frequent major and minor errors.
Little or no awareness of style and register.
0 0 The language produced does not meet the standard required for Level 1
at this tier.
Notes

(@ A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart
from that, the Content mark does not limit the mark for Quality of language.

16
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The following indicative content is an example of the response that students may give to this question.

Either | Question
01.1

This is a possible response (indicative content):

Moja szkota nazywa sie Moring High.

Tak jak wszyscy moi koledzy do szkoty chodze w mundurku. Sktada sie on z
czarnych spodni, marynarki, biatej koszuli i niebieskiego krawata.

Najbardziej w szkole lubie ogromne boisko do pitki, najmniej stotéwke, bo jest
tam mato miejsca.

Nauczyciele sg mili, pani od francuskiego juz nie raz pomogta mi w zrozumieniu
gramatyki. Od nastepnego tygodnia bede miat dodatkowe lekcje, bo jezyk obcy
zawsze moze sie przydac.

Po egzaminach mam nadzieje iS¢ na studia biznesu. Studia sg bardzo pomocne,
bo daja nie tylko wiedze, ale i przygotowuja do samodzielnego zycia. (94 words)

[16 marks]

or Question
01.2

This is a possible response (indicative content):

Moja rodzina to mama, siostra i brat. Siostra jest starsza o dwa lata i duzo sie
uczy, bo chce byc¢ lekarzem. M¢j brat ma dopiero trzy lata. Jest bardzo zabawny i
gdy jestem smutna, on zawsze mnie rozSmiesza.

Moja mama jest bardzo wyrozumiata i zawsze ma dla mnie czas.

Lubie spedzac¢ czas z mojg rodzing. W ostatnig sobote bylismy wszyscy na
basenie, a potem w kinie.

Duza rodzina jest fajna, bo zawsze jest z kim porozmawiag, ale tez rodzice nie
zawsze majq dla kazdego tyle samo czasu. Mysle, Ze rodzina jest wazna, bo
przygotowuje nas do dorostego zycia. (98 words)

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met. To exemplify this, the following alternative indicative content is provided.

17
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Either

or

Question
01.1

This is a possible response (indicative content):

Moja szkota nazywa sie Moring High.

Tak jak wszyscy moi koledzy do szkoty chodze w mundurku. Sktada sie on z
czarnych spodni, marynarki, biatej koszuli i niebieskiego krawata. Lubie w nim
chodzi¢, bo nie musze mysle¢ o tym, co mam codziennie zatozy¢, tak jak to byto
w szkole w Polsce.

Na przerwach spotykam sie z kolezankami z innych klas, zawsze jest mito. Pani
od matematyki bardzo mi pomaga, ttumaczy, daje dodatkowe zadania, wie, ze nie
wszystko rozumiem po angielsku, ale mysle, ze do czasu egzaminéw na studia
dogonie tych najlepszych. Przeciez to byt kiedy$ méj ulubiony przedmiot.

(97 words)

[16 marks]

Question
01.2

This is a possible response (indicative content):

Moja rodzina to mama, siostra i brat. Siostra jest starsza o siedem lat, nie mieszka
juz z nami. Uwielbia zwierzeta | dlatego zostata weterynarzem. Ja niestety, nie
rozumiem jej fascynacji, zdecydowanie wole ludzi. Mdj brat jest mtodszy ode mnie
o dwa lata, mysle, Ze jest taki za bardzo na serio, moze to | dobrze, bo jak
potrzebuje jakiej$ rady, zawsze mi pomaga. M¢j tata nie mieszka z nami, ale ja
odwiedzam go raz na trzy tygodnie. Jak bytam u niego ostatnio poszlismy razem
na wystawe starych samochodow, bardzo mi sie podobato. Mysle, Ze rodzina jest
wazna, bo daje nam wsparcie. (99 words)

[16 marks]

18
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]

Content

Level | Marks | Response

An excellent response which is fully relevant and detailed, conveying a
5 13-15 | lot of information. Communication is clear with little or no ambiguity.
Opinions are expressed and justified.

A very good response which is almost always relevant and which
4 10-12 | conveys a lot of information. Communication is mostly clear but there are
a few ambiguities. Opinions are expressed and justified.

A good response which is generally relevant with quite a lot of
3 7-9 information conveyed. Communication is usually clear but there are some
ambiguities. Opinions are expressed and may be justified.

A reasonable response with some relevant information conveyed.
2 4-6 Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1 1-3 Communication may not be clear and there are instances where
messages break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.

19
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Range of language

Level | Marks | Response

Very good variety of appropriate vocabulary and structures. More
4 10-12 | complex sentences are handled with confidence, producing a fluent piece
of coherent writing. The style and register are appropriate.

Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing
a mainly fluent piece of coherent writing with occasional lapses. The style
and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences
2 4-6 are attempted, using appropriate linking words, often successfully. The
style and register may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short

1 1-3 and simple. Little or no awareness of style and register.
0 0 The range of language produced does not meet the standard required for
Level 1 at this tier.
Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language

Accuracy

Level | Marks | Response

Accurate, although there may be a few errors especially in attempts at

5 5 )
more complex structures. Verbs and tense formations are secure.

Generally accurate. Some minor errors. Occasional major errors, usually
4 4 in attempts at more complex structures. Verbs and tense formations are
nearly always correct.

Reasonably accurate. There are likely to be minor errors and there may
3 3 be some major errors, not only in complex structures. Verb and tense
formations are usually correct.

More accurate than inaccurate. The intended meaning is generally clear.
Verb and tense formations are sometimes correct.

There may be major errors and frequent minor ones, and the intended
1 1 meaning is not always clear. There is only limited success with verb and
tense formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes
(&) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from that,
the Content mark does not limit the mark for Accuracy.
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The following indicative content is an example of the response that students may give to this question. It
demonstrates a balanced coverage of the compulsory bullet points

Either

or

Question
02.1

This is a possible response (indicative content):

Nowoczesna technologia jest wszedzie. Prawie wszyscy majg komputery,
telefony komoérkowe. Nie wiem, kiedy to sie tak zmienito, ale mgj tata
powtarza, ze jeszcze niedawno ludzie radzili sobie bez tych wynalazkow. Ja
sobie tego nie moge wyobrazi¢! Komputery pomagajg ludziom w pracy, np.
moga cos policzy¢, narysowac. Sg w sklepach, bankach, szpitalach. Przez
komputer mozna podtaczy¢ sie do internetu i przeczyta¢ wiadomosci, mozna
tez obejrzec film czy postucha¢ muzyki.

Ja korzystam z technologii codziennie. Korzystam z portali
spotecznosciowych i czatéw, bo moge porozmawiaé ze znajomymi albo
umowié sie na pitke. Stucham muzyki przez telefon, a komputer pomaga mi w
odrabianiu zadan domowych. Wczoraj musiatem poszukac¢ informac;ji o
Inkach i wystarczyto pare kliknie¢ myszkg, aby je znalez¢é. Komputer to tez
zabawa, mozna pogra¢ w gry. Mnie to nudzi, ale niektérzy koledzy grajg
godzinami. Ale strata czasu!

Pare dni temu, widziatem jak samochdd uderzyt pana na rowerze i dzieki
temu, ze miatem telefon, szybko zadzwoniliSmy po karetke. Przyjechata za 5
minut!! To dowdd na to, ze technologia moze poméc w kazdej sytuacii.

(169 words)

[32 marks]

Question
02.2

This is a possible response (indicative content):

Co to znaczy zdrowy tryb zycia? To nie tylko dobre i zdrowe odzywianie,
ruch, ale tez i odpoczynek. Moja mama czesto powtarza, ze zdrowo to z
umiarem. Mozna jes¢ wszystko, ale po trochu. Mieso, chleb, warzywa, owoce
dajg nie tylko energie, ale i witaminy. Nie mozna sie przejadac, bo to grozi
otytoscig, a otytos¢ moze doprowadzi¢ do wielu niebezpiecznych choréb. W
zdrowym stylu zycia wazne jest uprawianie sportu, najlepiej pare razy w
tygodniu. Do tego trzeba zawsze znalez¢ czas na relaks, na ksigzke czy
muzyke, bo odpoczynek ma dobry wptyw na to, jak sie czujemy.

Ja staram sie zdrowo odzywiac, jem duzo owocow, lubie warzywa, unikam
stodkich napojow, ale czasami jem tez ciasta, frytki. Z drugiej strony
uprawiam sport i lubie spacery. Jutro mam dwie godziny siatkowki, a w
czwartek godzine ptywania. Od przysztego tygodnia planuje jezdzi¢ do szkoty
rowerem. Mam nadzieje ze dotrwam do konca roku. Nie bede tez kupowaé
stodycze w szkolnym sklepiku, ale i tak mysle, ze najwazniejszy jest balans i
umiar. (165 words)

[32 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at

least some coverage of both bullet points is evident, students will still have access to full marks where

the other criteria are met. To exemplify this, the following alternative indicative content is provided.
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Either | Question | This is a possible response (indicative content):
02.1
Uwazam, ze w dzisiejszych czasach trudno jest zy¢ bez technologii.
Wiekszos¢ ludzi ma komputery, telefony komérkowe, albo jakies inne
gadzety. Z drugiej strony, wiem, Ze sg kraje gdzie ludzie nie majg dostepu do
technologii, ale to niedlugo pewnie sie zmieni.

Jak w ciggu dnia uzywamy technologie? Rano budzi nas alarm z telefonu,
potem sprawdzamy elektroniczny kalendarz, wtasciwie to robig moi rodzice,
bo ja wole méj papierowy. W drodze do szkoty albo do pracy kupujemy bilet
w specjalnej maszynie, a wchodzgc do szkoty uzywamy elektronicznych kart.
Mama méwita mi, ze kiedys$ po prostu podpisywata liste obecnosci.
Komputery pomagajg ludziom w pracy, hp. mogg co$ policzy¢, narysowac.
S3a w sklepach, bankach, szpitalach. Przez komputer mozna podtgczy¢ sie do
internetu i przeczyta¢ wiadomosci, mozna tez obejrzec film czy postuchaé
muzyki. Duzo moich rowiesnikéw korzysta z portali spotecznosciowych i
czatéw. Sama to robie, w sobote rozmawiatam ze znajomymi z Polski.
Wczoraj komputer pomégt mi odrobi¢ zadanie domowe, szukatam informac;ji
o Inkach i wystarczyto pare kliknie¢, aby je znalez¢. Komputer to tez zabawa,
mozna pogra¢ w gry. Mnie to nudzi, ale niektorzy koledzy grajg godzinami.
(174 words)

[32 marks]

or Question | This is a possible response (indicative content):
02.2

Co to znaczy zdrowy tryb zycia? To dobre i zdrowe odzywianie, sport,
odpoczynek. Oczywiscie wszystko z umiarem. Dobra dieta to taka, kiedy
mozna je$¢ wszystko, ale po trochu. Mieso, chleb, warzywa, owoce dajg nie
tylko energie, ale i witaminy. Nie mozna sie przejadac, ani co chwila czegos
podjadag¢, bo jak sie to dtugo robi, to grozi to otytosciag, a to moze
doprowadzi¢ do wielu niebezpiecznych, czesto zagrazajacych zyciu, chorob.
W zdrowym stylu zycia wazne jest uprawianie sportu, najlepiej pare razy w
tygodniu. Wiem, ze to nie jest tatwe, ale trzeba prébowac. Ja jezdze na
rowerze, czasem biegam, cho¢ nie bardzo to lubie. Do tego trzeba zawsze
znalez¢ czas na relaks, na ksigzke czy muzyke, bo odpoczynek ma dobry
wplyw na to, jak sie czujemy. Kazdy cztowiek powinien regularnie mie¢
wakacje, najlepiej gdzies blisko natury. Mozna sie dotlenic, ale i podziwia¢
nasz piekny Swiat.

Ja staram sie zdrowo odzywia¢. Jem owoce, warzywa, ale czasami jem tez

ciasta i frytki. Mysle, ze w przysztosci postaram sie przestrzegac dobrej diety,
bede uprawia¢ sport i regularnie jezdzi¢ na wakacje. (173 words)

[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical

knowledge of language and structures (6 marks) as specified in the criteria below. The maximum mark
is 12. When awarding the marks the student’s response across the passage should be considered as a

whole.

[12 marks]

Conveying key messages

Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level | Marks | Response

6 6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 _Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The 'Ian'guage produced does not meet the standard required for Level 1
at this tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages

mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Last Christmas, my whole family gathered at my grandparents’ house. My mother, who is a chef
prepared a special meal. | decorated the Christmas tree. After dinner, we all sang carols. Later we
went to Midnight Mass. | enjoyed spending time with my family, but next year | would rather go skiing
with my friends.

Indicative content
The following indicative content is an example of a response which would be awarded full marks.

Ostatnie swieta spedzitem/am z mojg cafg rodzing w domu dziadkéw. Moja mama, ktéra z zawodu jest
kucharkg, przygotowata uroczysty positek. Ja udekorowatem/tam choinke. Po kolacji wszyscy razem
$piewalismy koledy. Pézniej poszlismy na pasterke. Swigta z rodzing podobaty mi sie, ale za rok
chciatbymlabym spedzi¢ je z kolegami/kolezankami na nartach.

Other reasonable alternative translations will also be accepted.

Exemplification of mark scheme

To exemplify the marking criteria for Conveying key messages and Application of grammatical
knowledge of language and structures, a range of exemplar student responses have been provided
below with a commentary.

Student 1

Ostatnie $wieta spedzitem z mojg rodzing w domu dziadkdéw. Moja mama, ktéra jest kucharkg,
przygotowata uroczysty positek. Ja udekorowatem choinke. Po kolacji wszyscy razem Spiewalismy
koledy, a puzniej poszli$my na pasterke. Swigta podobaty mi sie, ale za rok chce pojechac z kolegami
na narty.

Conveying key messages = 6 marks
Application of grammatical knowledge of language and structures = 6 marks

All key messages are conveyed. There are a couple of spelling mistakes, but other than that the
response is virtually faultless.

Student 2

Ostatnie swieta spedzitem z mojg cala rodzina w domu dziadkéw. Moja mama, ktéra z zawodu jest
chefem, przygotowata pyszny positek. Ja udekorowatem/tam choinke. Po Kolacji wszyscy razem
$piewalismy kolendy. Pézniej poszlismy do kosciola. Swieta z rodzing byly fajne, ale za rok chciatbym
pojechac z kolegami na narty.

Conveying key messages = 5 marks
Application of grammatical knowledge of language and structures = 4 marks

Overall, nearly all messages are conveyed. Despite some inaccuracies and omissions, the response is
generally accurate.
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Student 3

To byly swieta z cafq rodzing u dziadka. Moja mama i ciocia ugotowata jedzenie. Ja udekorowatem
choinke. Po kolacji $piewali$my koledy. P6zniej poszlismy na msze. Swieta z rodzing byty ok, ale za rok
chciatbym spedzi¢ je z kolegami.

Conveying key messages = 4 marks
Application of grammatical knowledge of language and structures = 3 marks

Most key messages have been conveyed. There are some omissions (chef, midnight mass, skiing) and
misspelings, but the response is more accurate than inaccurate.

Student 4

W ostatnie $wienta bytem w domu dziadka. Moja mama zrobita obiad, a ja choinka. Na kolacji
Spiewalismy piosenki. Pdziniej do mszy. Swienta z rodzing podobaty mi sie, ale za rok jade z kolegamy...

Conveying key messages = 3 marks
Application of grammatical knowledge of language and structures = 2 marks

Some key messages have been conveyed, but due to numerous errors and limited vocabulary, the
response is generally inaccurate.
Student 5

Ostatnie Swenta sa w domu. Moja mama jest chef. Ja miatam choinka i Spiewy. Z rodzina dobrze mi,
kocha mnie. Potem jade na gory.

Conveying key messages = 2 marks
Application of grammatical knowledge of language and structures = 1 marks

Few key messages are conveyed. There are a number of omissions and the student displayed a very
limited knowledge of vocabulary and grammatical structures. For these reasons the response is highly
inaccurate.

25



MARK SCHEME — GCSE POLISH — WRITING — SPECIMEN

aga.org.uk

Copyright © 2016 AQA and its licensors. All rights reserved.
AQA Education (AQA) is a registered charity (registered charity number 1073334) and a company limited by guarantee registered in
England and Wales (company number 3644723). Registered address: AQA, Devas Street, Manchester M15 6EX

5 April 2017

26





